Lecture 34

Wednesday, November 29, 2017 12:45

To do ...

® Quiz 7 next week
* WA 4 due Fri
* HW 25 ME due Sat

e HW 24 PL due Tues
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Monday, November 7, 2016 11:21

Mechanics is a branch of the physical sciences that is concerned with the state of rest or
motion of bodies that are subjected to the action of forces

SOLIDS FLUIDS
Rigid Bodies \

TAM 210/211: Statics
\ TAM212: Dynamicy

/ Deformable Bodies \

TAM 251: Solid ekl ralge
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Monday, November 7, 2016 11:21

Honey Rodk

Duids e e Shape of its (onANER
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Monday, November 7, 2016 11:21

What is Sand?
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Wednesday, November 9, 2016 11:10

Fluids

Pascal’s law: A fluid at rest creates a pressure p at a point that is the same

in all directions

Incompressib]e: An incompressible fluid is one for which the mass

density p is independent of the pressure p.
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Fluid Pressure

For an incompressible fluid at rest with mass density , the pressure varies

linearly with depth z
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Observe that the pressure varies /inearly from the free surface, and
is constant along any horizontal plane (since /4 1s constant):

Vi Free surface
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